

On an Extension of Semigroup

Yukio KOBAYASHI (小林由紀男)

Department of Information & Communication Eng.
Faculty of Engineering, Tamagawa University
yukiok@eng.tamagawa.ac.jp
<http://rironnew.inf.eng.tamagawa.ac.jp>

Abstract

This paper contains an ideal extension of semigroup. Suppose that S is a semigroup and Z is a semigroup with zero 0 . A semigroup T is called an ideal extension of S with respect to Z if the following conditions are satisfied: (1) S is an ideal of the semigroup T , and (2) Z is Rees quotient semigroup such that Z is isomorphic to T/S . The problem is consist of : (1) what kind of semigroup is T , and (2) what conditions on Z do guarantee the ideal extension. We will start with two extensions of semigroup by using right translation and left translation on semigroup. The object of this paper to present properties of the semigroup T and the conditions on Z .

1 Introduction and Preliminaries

So many attempts have been made for finding the structural properties of left translations and right translations of semigroup. We begin by recalling some results about algebraic semigroup (See [1]).

Let (S, \cdot) be any semigroup with operation \cdot , briefly denoted by S . Then, a mapping ψ on S is called a left translation if $\psi(x \cdot y) = \psi(x) \cdot y$ for any elements $x, y \in S$, and a mapping φ on S is called a right translation if $\phi(x \cdot y) = x \cdot \phi(y)$ for any elements $x, y \in S$. A left translation ψ is called inner if there exists an element $s \in S$ such that $\psi(x) = s \cdot x$ for any element $x \in S$, which will be denoted by l_s , that is, $l_s(x) = s \cdot x$. A right translation

ϕ is called inner if there exists an element $s \in S$ such that $\phi(x) = x \cdot s$ for any element $x \in S$, which will be denoted by r_s , that is, $r_s(x) = x \cdot s$.

The set of all left translations on S is the left translation semigroup under the ordinary composition $*$ of mappings. Similarly, the set of all right translations on S is the right translation semigroup under the ordinary composition \circ of mappings. Throughout this paper, $(\Psi(S), *)$ or $\Psi(S)$ will denote the left translation semigroup of S , and $(\Phi(S), \circ)$ or $\Phi(S)$ will denote the right translation semigroup of S .

Definition 1. Let S be an ideal of a semigroup T .

The relation τ defined on T by $x \tau y$ if and only if $x, y \in S$ or $x = y$, is a congruence called the *Rees congruence* induced by S .

The quotient semigroup T/τ is the *Rees quotient semigroup* relative to S and is denoted by T/S .

Definition 2. Let S be a semigroup and Z be a semigroup with zero 0.

(1) Semigroup \mathcal{E}_L is called a left ideal extension of S by Z if S is a left ideal of \mathcal{E}_L and Z is isomorphic to the Rees quotient semigroup \mathcal{E}_L/S .

(2) Semigroup \mathcal{E}_R is called a right ideal extension of S by Z if S is a right ideal of \mathcal{E}_R and Z is isomorphic to the Rees quotient semigroup \mathcal{E}_R/S .

Definition 3. Given a semigroup S and a semigroup Z with zero 0, semigroup T is called an ideal extension of S by Z if S is a two-sided ideal of T and there exists an isomorphism from Z to Rees quotient semigroup T/S .

Now we can define two semigroups, $(\mathcal{T}_L, \oplus) = (S, \cdot) \cup (\Psi(S), *)$ and $(\mathcal{T}_R, \odot) = (S, \cdot) \cup (\Phi(S), \circ)$, with semigroup S as right and left ideals of \mathcal{T}_L and \mathcal{T}_R , respectively.

1. Let x, y be any elements of (S, \cdot) and ψ, φ be any elements of $(\Psi(S), *)$.

The operation \oplus on \mathcal{T}_L will be defined by

(1) $x \oplus y = x \cdot y$, (2) $x \oplus \psi = l_x * \psi$, (3) $\psi \oplus x = \psi(x)$ and (4) $\psi \oplus \varphi = \psi * \varphi$, where $\psi * \varphi$ is defined by $\psi * \varphi(z) = \psi(\varphi(z))$ and $l_x(z) = z \cdot x$ for all $z \in S$.

2. Let x, y be any elements of (S, \cdot) and ϕ, v be any elements of $(\Phi(S), \circ)$.

The operation \odot on \mathcal{T}_R will be defined by

(1) $x \odot y = x \cdot y$, (2) $x \odot \phi = \phi(x)$, (3) $\phi \odot x = \phi \circ r_x$ and (4) $\phi \odot v = \phi \circ v$, where $\phi \circ v$ is defined by $\phi \circ v(z) = v(\phi(z))$ and $r_x = x \cdot z$ for all $z \in S$.

To show that \mathcal{T}_L is a semigroup, it is necessary that the following eight equations hold for all $x, y, z \in S$ and $\psi, \varphi, \chi \in \Psi(S)$:

$$\begin{aligned} (1) & (x \oplus y) \oplus z = x \oplus (y \oplus z), & (5) & (\psi \oplus \varphi) \oplus \chi = \psi \oplus (\varphi \oplus \chi), \\ (2) & (x \oplus \psi) \oplus \varphi = x \oplus (\psi \oplus \varphi), & (6) & (\psi \oplus x) \oplus y = \psi \oplus (x \oplus y), \\ (3) & (x \oplus \psi) \oplus y = x \oplus (\psi \oplus y), & (7) & (\psi \oplus \varphi) \oplus x = \psi \oplus (\varphi \oplus x), \\ (4) & (x \oplus y) \oplus \varphi = x \oplus (y \oplus \varphi) \text{ and } & (8) & (\psi \oplus x) \oplus \varphi = \psi \oplus (x \oplus \varphi) \end{aligned}$$

It is shown that equations (1) to (8) hold on \mathcal{T}_L as follows:

$$\begin{aligned} (1) & (x \oplus y) \oplus z = (x \cdot y) \cdot z = x \cdot (y \cdot z) = x \oplus (y \oplus z) ; \\ (2) & (x \oplus \psi) \oplus \varphi = (l_x * \psi) * \varphi = l_x * (\psi * \varphi) = x \oplus (\psi \oplus \varphi) ; \\ (3) & (x \oplus \psi) \oplus y = (l_x * \psi) \oplus y = (l_x * \psi)(y) = l_x(\psi(y)) = l_x(\psi \oplus y) ; \\ (4) & (x \oplus y) \oplus \varphi = (x \cdot y) \oplus \varphi = l_{x \cdot y} * \varphi. \text{ Since } l_{x \cdot y}(z) = (x \cdot y) \cdot z = \\ & x \cdot (y \cdot z) = x \cdot l_y(z) = l_x(l_y(z)) = l_x * l_y(z) \text{ for any } z \in S, \text{ it is obtained} \\ & \text{that } l_{x \cdot y} * \varphi = (l_x * l_y) * \varphi = l_x * (l_y * \varphi) = x \oplus (l_y * \varphi) = x \oplus (y \oplus \varphi) ; \\ (5) & (\psi \oplus \varphi) \oplus \chi = (\psi * \varphi) * \chi = \psi * (\varphi * \chi) = \psi \oplus (\varphi \oplus \chi) ; \\ (6) & (\psi \oplus x) \oplus y = \psi(x) \oplus y = \psi(x) \cdot y = \psi(x \cdot y) \text{ and } \psi \oplus (x \oplus y) = \psi \oplus (x \cdot y) = \\ & \psi(x \cdot y) ; \\ (7) & (\psi \oplus \varphi) \oplus x = (\psi * \varphi) \oplus x = \psi * \varphi(x) = \psi(\varphi(x)) = \psi(\varphi \oplus x) = \psi \oplus (\varphi \oplus x) \\ & ; \\ (8) & (\psi \oplus x) \oplus \varphi = (\psi(x)) \oplus \varphi = l_{\psi(x)} * \varphi \text{ and } \psi \oplus (x \oplus \varphi) = \psi * (l_x * \varphi). \text{ From} \\ & \text{the fact that for any } z \in S, (l_{\psi(x)} * \varphi)(z) = l_{\psi(x)}(\varphi(z)) = \psi(x) \cdot \varphi(z) \text{ and} \\ & \psi * (l_x * \varphi)(z) = \psi((l_x * \varphi)(z)) = \psi((l_x(\varphi(z)))) = \psi(x \cdot \varphi(z)) = \psi(x) \cdot \varphi(z), \\ & \text{we have } l_{\psi(x)} * \varphi = \psi * (l_x * \varphi). \end{aligned}$$

It is also shown that \mathcal{T}_R is a semigroup in the same manner, that is, the following eight equations hold for all $x, y, z \in S$ and $\phi, v, \omega \in \Phi(S)$.

$$\begin{aligned} (1) & (x \odot y) \odot z = x \odot (y \odot z) & (5) & (\phi \odot v) \odot \omega = \phi \odot (v \odot \omega) \\ (2) & (x \odot \phi) \odot v = x \odot (\phi \odot v) & (6) & (\phi \odot x) \odot y = \phi \odot (x \odot y) \\ (3) & (x \odot \phi) \odot y = x \odot (\phi \odot y) & (7) & (\phi \odot v) \odot x = \phi \odot (v \odot x) \\ (4) & (x \odot y) \odot v = x \odot (y \odot v) & (8) & (\phi \odot x) \odot v = \phi \odot (x \odot v) \end{aligned}$$

In fact, it is be shown that equations (1) to (8) hold on \mathcal{T}_R as follows:

- (1) $(x \odot y) \odot z = (x \cdot y) \cdot z = x \cdot (y \cdot z) = x \odot (y \odot z)$;
- (2) $(x \odot \phi) \odot v = \phi(x) \odot v = v(\phi(x)) = \phi \circ v(x) = x \odot (\phi \odot v)$;
- (3) $(x \odot \phi) \odot y = \phi(x) \odot y = \phi(x) \cdot y$ and $x \odot (\phi \odot y) = x \odot (\phi \circ r_y) = r_y(\phi(x)) = \phi(x) \cdot y$;
- (4) $(x \odot y) \odot v = (x \cdot y) \odot v = v(x \cdot y) = x \cdot v(y)$ and $x \odot (y \odot v) = x \odot (y \odot v)$
- (5) $(\phi \odot v) \odot \omega = (\phi \circ v) \circ \omega = \phi \circ (v \circ \omega) = \phi \odot (v \odot \omega)$;
- (6) $(\phi \odot x) \odot y = (\phi \circ r_x) \odot y = (\phi \circ r_x) \circ r_y = \phi \circ r_x \circ r_y$ and $\phi \odot (x \odot y) = \phi \odot (x \cdot y) = \phi \circ r_{x \cdot y}$. Since $r_{x \cdot y}(z) = z \cdot (x \cdot y) = (z \cdot x) \cdot y = (r_x(z)) \cdot y = r_y(r_x(z)) = r_x \circ r_y(z)$ for any $z \in S$, it is obtained that $\phi \circ r_{x \cdot y} = \phi \circ r_x \circ r_y$;
- (7) $(\phi \odot v) \odot x = (\phi \circ v) \odot x = (\phi \circ v) \circ r_x = \phi \circ (v \circ r_x) = \phi \circ (v \odot x) = \phi \odot (v \odot x)$;
- (8) $(\phi \odot x) \odot v = (\phi \circ r_x) \odot v = \phi \circ r_x \circ v$ and $\phi \odot (x \odot v) = \phi \odot v(x) = \phi \circ r_{v(x)}$. From the fact that for any $z \in S$, $((\phi \circ r_x) \circ v)(z) = v(\phi \circ r_x(z)) = v(r_x(\phi(z))) = v(\phi(z) \cdot x) = \phi(z) \cdot v(x)$ and $(\phi \circ r_{v(x)})(z) = r_{v(x)}(\phi(z)) = \phi(z) \cdot v(x)$, we have $(\phi \circ r_x) \circ v = (\phi \circ r_x) \circ v = \phi \circ (r_x \circ v)$.

Definition 4. Let S be a semigroup and Z be a set such that the union of S and Z , $T = S \cup Z$, is a semigroup.

(1) The semigroup (T, \cdot) is called a quasi-inflation of S with respect to Z if there exists a homomorphism f from T onto S such that $f(x) = x$ for all $x \in S$.

(2) The semigroup (T, \cdot) is called an inflation of $(S, *)$ with respect to Z if there exists a homomorphism f from T onto S such that $f(x) = x$ for all $x \in S$ and $x \cdot y = f(x) * f(y)$ for all $x, y \in T$.

2 Ideal Extensions

Lemma 1. Let S be a subsemigroup of T .

(1) If S is a left ideal of T , then T is isomorphich to a subsemigroup of $\Psi(S)$.

(2) If S is a left ideal of T , then T is isomorphic to a subsemigroup of $\Phi(S)$.

[*Proof*] From the definitions of $\Psi(S)$ and left ideal, for any element s of T , there exists a transformation f_s on S , defined by $f_s(x) = s \cdot x$ for all $x \in S$. Since $f_s(x \cdot y) = s \cdot x \cdot y = f_s(x) \cdot y$, it is obvious that f_s is a left translation. Similarly from the definitions of $\Phi(S)$ and right ideal, the transformation g_t on S , defined by $g_t(x) = x \cdot t$ for all $s \in S$, is a left translation.

From above lemma, we have the following proposition:

Proposition 1. Let S be a subsemigroup of T .

- (1) There exists is a left ideal extension of S by Z if and only if $Z \setminus \{0\}$ is embedded in a quai-inflation of $\Psi(S)$.
- (2) There exists is a right ideal extension of S by Z if and only if $Z \setminus \{0\}$ is embedded in a quai-inflation of $\Phi(S)$.

Let now ϕ and ψ be a right and a left translations of a semigroup (S, \cdot) , respectively. Then ϕ and ψ are called linked if $x \cdot \psi(y) = \phi(x) \cdot y$ for all $x, y \in S$ and denoted by $\phi \sim \psi$. The set $\mathcal{LK}(S)$ is defined by $\mathcal{LK}(S) = \{[\phi, \psi] : \phi \sim \psi, \phi \in \Phi(S), \psi \in \Psi(S)\}$, that is, $\mathcal{LK}(S)$ is a semigroup called translation hull with the operation Δ defined by $[\phi, \psi] \Delta [\phi', \psi'] = [\phi \circ \phi', \psi * \psi']$.

Definition 5. Let S be a semigroup and $\mathcal{LK}(S)$ be the translation hull of S and suppose that $[\phi, \psi]$ and $[\phi', \psi']$ are elements of $\mathcal{LK}(S)$. $[\phi, \psi]$ is commutable to $[\phi', \psi']$ if ψ and ϕ' are commutative, i.e., $\psi(\phi'(x)) = \phi'(\psi(x))$, which is denoted by $[\phi, \psi] \times [\phi', \psi']$. A subsemigroup \mathcal{H} of $\mathcal{LK}(S)$ is called commutable if $[\phi, \psi] \times [\phi', \psi']$ for any pairs $[\phi, \psi]$ and $[\phi', \psi'] \in \mathcal{H}$.

Now we can define a semigroup, $T(S : \mathcal{H}) = S \cup \mathcal{H}$, where \mathcal{H} is a commutable subsemigroup of $\mathcal{LK}(S)$.

In fact, let x, y, z be any elements of S and $[\phi_1, \psi_1], [\phi_2, \psi_2]$ be any elements of $\mathcal{LK}(S)$, then an operation \boxtimes on $T(S : \mathcal{H})$ can be defined as follows:

- (1) $x \boxtimes y = x \cdot y$;
- (2) $x \boxtimes [\phi_1, \psi_1] = \phi_1(x)$;
- (3) $[\phi_1, \psi_1] \boxtimes x = \psi_1(x)$;
- (4) $[\phi_1, \psi_1] \boxtimes [\phi_2, \psi_2] = [\phi_1, \psi_1] \Delta [\phi_2, \psi_2]$.

Lemma 2. Let S be a subsemigroup of T .

If S is an ideal of T , then T is isomorphic to a commutable subsemigroup of the translation hull $\mathcal{LK}(S)$.

[*Proof*] From the definitions of $\mathcal{LK}(S)$ and ideal, for any elements a and b of T , there exists an element $[\phi_a, \psi_b]$ of $\mathcal{LK}(S)$, which is a pair of a right translation ϕ_a and a left translation ψ_b on S such that $x \boxtimes [\phi_a, \psi_b] = \phi_a(x) = x \cdot a$ and $[\phi_a, \psi_b] \boxtimes x = \psi_b(x) = b \cdot x$ for all $x \in S$. Since $\psi_b(\phi_a(x)) = \psi_b(x \cdot a) = b \cdot (x \cdot a) = (b \cdot x) \cdot a = \phi_a(\psi_b(x))$ for all $x \in S$, it is obvious that $\{[\phi_a, \psi_b] : a, b \in T\}$ is commutable.

$T(S : \mathcal{H})$ is a semigroup because of obtaining the following eight equations which hold for all $x, y, z \in S$ and $[\phi_1, \psi_1], [\phi_2, \psi_2], [\phi_3, \psi_3] \in T(S : \mathcal{H})$.

- (1) $(x \boxtimes y) \boxtimes z = x \boxtimes (y \boxtimes z)$;
- (2) $(x \boxtimes [\phi_1, \psi_1]) \boxtimes [\phi_2, \psi_2] = x \boxtimes ([\phi_1, \psi_1] \boxtimes [\phi_2, \psi_2])$;
- (3) $(x \boxtimes [\phi_1, \psi_1]) \boxtimes y = x \boxtimes ([\phi_1, \psi_1] \boxtimes y)$;
- (4) $(x \boxtimes y) \boxtimes [\phi_1, \psi_1] = x \boxtimes (y \boxtimes [\phi_1, \psi_1])$;
- (5) $([\phi_1, \psi_1] \boxtimes [\phi_2, \psi_2]) \boxtimes [\phi_3, \psi_3] = [\phi_1, \psi_1] \boxtimes ([\phi_2, \psi_2] \boxtimes [\phi_3, \psi_3])$
- (6) $([\phi_1, \psi_1] \boxtimes x) \boxtimes y = [\phi_1, \psi_1] \boxtimes (x \boxtimes y)$;
- (7) $([\phi_1, \psi_1] \boxtimes [\phi_2, \psi_2]) \boxtimes x = [\phi_1, \psi_1] \boxtimes ([\phi_2, \psi_2] \boxtimes x)$;
- (8) $([\phi_1, \psi_1] \boxtimes x) \boxtimes [\phi_2, \psi_2] = [\phi_1, \psi_1] \boxtimes (x \boxtimes [\phi_2, \psi_2])$.

It is shown that equations (1) to (8) hold on $T(S : H)$ as follows:

- (1) $(x \boxtimes y) \boxtimes z = (x \cdot y) \cdot z = x \cdot (y \cdot z) = x \boxtimes (y \boxtimes z)$;
- (2) $(x \boxtimes [\phi_1, \psi_1]) \boxtimes [\phi_2, \psi_2] = \phi_1(x) \boxtimes [\phi_2, \psi_2] = \phi_2(\phi_1(x)) = (\phi_1 \circ \phi_2)(x) = x \boxtimes ([\phi_1 \circ \phi_2, \psi_1 * \psi_2]) = x \boxtimes ([\phi_1, \psi_1] \boxtimes [\phi_2, \psi_2])$;
- (3) $(x \boxtimes [\phi_1, \psi_1]) \boxtimes y = \phi_1(x) \boxtimes y = \phi_1(x) \cdot y = x \cdot \psi_1(y) = x \boxtimes \psi_1(y) = x \boxtimes ([\phi_1, \psi_1] \boxtimes y)$ because of $\phi_1 \sim \psi_1$;
- (4) $(x \boxtimes y) \boxtimes [\phi_1, \psi_1] = (x \cdot y) \boxtimes [\phi_1, \psi_1] = \phi_1(x \cdot y) = x \cdot \phi_1(y) = x \boxtimes (y \boxtimes [\phi_1, \psi_1])$;

- (5) $([\phi_1, \psi_1] \boxtimes [\phi_2, \psi_2]) \boxtimes [\phi_3, \psi_3] = ([\phi_1, \psi_1] \Delta [\phi_2, \psi_2]) \Delta [\phi_3, \psi_3] = [(\phi_1 \circ \phi_2) \circ \phi_3, (\psi_1 * \psi_2) * \psi_3] = [\phi_1 \circ (\phi_2 \circ \phi_3), \psi_1 * (\psi_2 * \psi_3)] = [\phi_1, \psi_1] \Delta ([\phi_2, \psi_2] \Delta [\phi_3, \psi_3]) = [\phi_1, \psi_1] \boxtimes ([\phi_2, \psi_2] \boxtimes [\phi_3, \psi_3])$;
- (6) $([\phi_1, \psi_1] \boxtimes x) \boxtimes y = \psi_1(x) \boxtimes y = \psi_1(x) \cdot y = \psi_1(x \cdot y) = [\phi_1, \psi_1] \boxtimes (x \cdot y) = [\phi_1, \psi_1] \boxtimes (x \boxtimes y)$;
- (7) $([\phi_1, \psi_1] \boxtimes [\phi_2, \psi_2]) \boxtimes x = ([\phi_1 \circ \phi_2, \psi_1 * \psi_2]) \boxtimes x = ([\phi_1 \circ \phi_2, \psi_1 * \psi_2])(x) = \psi_1 * \psi_2(x) = \psi_1(\psi_2(x)) = \psi_1([\phi_2, \psi_2] \boxtimes x) = [\phi_1, \psi_1] \boxtimes ([\phi_2, \psi_2] \boxtimes x)$;
- (8) $([\phi_1, \psi_1] \boxtimes x) \boxtimes [\phi_2, \psi_2] = \psi_1(x) \boxtimes [\phi_2, \psi_2] = \phi_2(\psi_1(x)) = \psi_1(\phi_2(x)) = \psi_1(x \boxtimes [\phi_2, \psi_2]) = [\phi_1, \psi_1] \boxtimes (x \boxtimes [\phi_2, \psi_2])$ because of $[\phi_1, \psi_1] \boxtimes [\phi_2, \psi_2]$.

From above lemma, we have the following proposition:

Proposition 2. There exists is an ideal extension of S by Z if and only if $Z \setminus \{0\}$ is embedded in a quai-inflation of a commutable subsemigroup of translation hull tion of $\mathcal{LK}(S)$.

REFERENCES

- [1] Clifford, A and Preston, G The Algebraic Theory of Semigroups, Amer. Math. Soc. Math Surveys No.7, Providence, R.I., Vol 1(1967), Vol.2(1967).
- [2] Jones, P. Joins and Meets of Congruences on a Regular Semigroup, Semigroup Forum, 30(1984) 1 - 6.
- [3] Koch, R. Sandwich Sets and Partial Order, Semigroup Forum, 30(1984), 53 - 66.
- [4] Kobayashi, Y. On two Relations Representing Some Structural Properties of Semigroups, Proceedings of the 17 th Symposium on Semigroups, Languages and their Related Fields (1993), 32 - 41.
- [5] Kobayashi, Y. On Some Classes of Translation Semigroup, Proceedings of the 19 th Symposium on Semigroups, Languages and their Related Fields (1995), 25 - 30.
- [6] Kobayashi, Y. On Distribution of Idempotents of Semigroup, RIMS Kokyuroku 960 (1996) 100 - 107.
- [7] Konieczny, J. Green's Equivalence in Finite Semigroups of Binary Relations. Semigroups. Semigroup Forum 1(1994), 235 - 252.

- [8] Levi, I and Wood, G. R. On Automorphisms of Translation Semigroups, Semigroup Forum 1(1994), 63 - 70.
- [9] Schein, B. Regular Elements of the Semigroup of All Binary Relations. Semigroup Forum 13(1976), 95 - 102.
- [10] Schein, B. Noble Inverse Semigroups with Bisimple Core. Semigroup Forum 36(1986), 175 - 178.